Complète les égalités :

44=  10 + 10 + 10 + 10 + 4

40 = ………………………………

33 = ………………………………

28 = ………………………………

9 = ……………………………….

29 = ………………………………..

14 = ………………………………

48 = ………………………………..


3 dizaines et 9 unités = ………..

49 = ……dizaines et ……unités

 ……dizaines et ……unités = 42

39 = ……dizaines et ……unités

Complète les égalités :

10 + 10 = …………………

20 + 10 = …………………

30 + 10 = …………………

40 + 10 = …………….


………+ 9 = 49

…….. + 6 = 36

…….. + 1 = 11

…….. + 8 = 38


20 + 20 + 7 + 2 = ……….

40 + 8 = ………..

20 + 10 + 10 + 6 = …………

30 + 10 + 5 + 4 = ……………..

10 + 30 + 8  =……………

